

REGULARITY OF GENERALIZED DERIVATIONS IN *BCI*-ALGEBRAS

G. MUHIUDDIN

ABSTRACT. In this paper we study the regularity of inside (or outside) (θ, ϕ) -derivations in *BCI*-algebras X and prove that let $d_{(\theta, \phi)} : X \rightarrow X$ be an inside (θ, ϕ) -derivation of X . If there exists $a \in X$ such that $d_{(\theta, \phi)}(x) * \theta(a) = 0$, then $d_{(\theta, \phi)}$ is regular for all $x \in X$. It is also shown that if X is a *BCK*-algebra, then every inside (or outside) (θ, ϕ) -derivation of X is regular. Furthermore the concepts of θ -ideal, ϕ -ideal and invariant inside (or outside) (θ, ϕ) -derivations of X are introduced and their related properties are investigated. Finally we obtain the following result: If $d_{(\theta, \phi)} : X \rightarrow X$ is an outside (θ, ϕ) -derivation of X , then $d_{(\theta, \phi)}$ is regular if and only if every θ -ideal of X is $d_{(\theta, \phi)}$ -invariant.

1. Introduction

Throughout the present paper X will denote a *BCI*-algebra unless otherwise mentioned. Jun and Xin [4] defined the notion of derivation on *BCI*-algebras as follows: A self map $d : X \rightarrow X$ is called a left-right derivation (briefly an (l, r) -derivation) of X if $d(x * y) = d(x) * y \wedge x * d(y)$ holds for all $x, y \in X$. Similarly, a self map $d : X \rightarrow X$ is called a right-left derivation (briefly an (r, l) -derivation) of X if $d(x * y) = x * d(y) \wedge d(x) * y$ holds for all $x, y \in X$. Moreover, if d is both (l, r) - and (r, l) -derivations, it is a derivation on X . Following [11], a self map $d_f : X \rightarrow X$ is said to be a left-right f -derivation or an (l, r) - f -derivation of X if it satisfies the identity $d_f(x * y) = d_f(x) * f(y) \wedge f(x) * d_f(y)$ for all $x, y \in X$. Similarly, a self map $d_f : X \rightarrow X$ is said to be a right-left f -derivation or an (r, l) - f -derivation of X if it satisfies the identity $d_f(x * y) = f(x) * d_f(y) \wedge d_f(x) * f(y)$ for all $x, y \in X$. Moreover, if d_f is both (l, r) and (r, l) - f -derivations, it is said that d_f is an f -derivation, where f is an endomorphism. Over the past decade, a number of research papers have been devoted to the study of various kinds of derivations in *BCI*-algebras (see for example, [2, 4, 7, 8, 9, 10, 11] where further references can be found).

Received April 16, 2015; Revised August 5, 2015.

2010 *Mathematics Subject Classification.* 03G25, 06F35, 06A99.

Key words and phrases. *BCI*-algebra, regular inside (or outside) $(\theta; \phi)$ -derivation, θ -ideal, ϕ -ideal, invariant inside (or outside) $(\theta; \phi)$ -derivation.

The purpose of this paper is to study the regularity of inside (or outside) (θ, ϕ) -derivations in BCI -algebras X and their useful properties. We prove that let $d_{(\theta, \phi)} : X \rightarrow X$ be an inside (θ, ϕ) -derivation of X and if there exists $a \in X$ such that $d_{(\theta, \phi)}(x) * \theta(a) = 0$, then $d_{(\theta, \phi)}$ is regular for all $x \in X$. It is also shown that if X is a BCK -algebra, then every inside (or outside) (θ, ϕ) -derivation of X is regular. Furthermore we introduce the concepts of θ -ideal, ϕ -ideal and invariant inside (or outside) (θ, ϕ) -derivations of X and investigated their related properties. We also prove that if $d_{(\theta, \phi)} : X \rightarrow X$ is an outside (θ, ϕ) -derivation of X , then $d_{(\theta, \phi)}$ is regular if and only if every θ -ideal of X is $d_{(\theta, \phi)}$ -invariant.

2. Preliminaries

A nonempty set X with a constant 0 and a binary operation $*$ is called a BCI -algebra if for all $x, y, z \in X$ the following conditions hold:

- (I) $((x * y) * (x * z)) * (z * y) = 0$.
- (II) $(x * (x * y)) * y = 0$.
- (III) $x * x = 0$.
- (IV) $x * y = 0$ and $y * x = 0$ imply $x = y$.

A BCI -algebra X has the following properties: For all $x, y, z \in X$

- (a1) $x * 0 = x$.
- (a2) $(x * y) * z = (x * z) * y$.
- (a3) $x \leq y$ implies $x * z \leq y * z$ and $z * y \leq z * x$.
- (a4) $(x * z) * (y * z) \leq x * y$.
- (a5) $x * (x * (x * y)) = x * y$.
- (a6) $0 * (x * y) = (0 * x) * (0 * y)$.
- (a7) $x * 0 = 0$ implies $x = 0$.

For a BCI -algebra X , denote the BCK -part (resp. the BCI -G part) of X by X_+ (resp. $G(X)$), i.e., X_+ is the set of all $x \in X$ such that $0 \leq x$ (resp. $G(X) := \{x \in X \mid 0 * x = x\}$). Note that $G(X) \cap X_+ = \{0\}$ (see [3]). If $X_+ = \{0\}$, then X is called a p -semisimple BCI -algebra. In a p -semisimple BCI -algebra X , the following hold: For all $x, y, z, a, b \in X$

- (a8) $(x * z) * (y * z) = x * y$.
- (a9) $0 * (0 * x) = x$.
- (a10) $x * (0 * y) = y * (0 * x)$.
- (a11) $x * y = 0$ implies $x = y$.
- (a12) $x * a = x * b$ implies $a = b$.
- (a13) $a * x = b * x$ implies $a = b$.
- (a14) $a * (a * x) = x$.

Let X be a p -semisimple BCI -algebra. We define addition “+” as $x + y = x * (0 * y)$ for all $x, y \in X$. Then $(X, +)$ is an abelian group with identity 0 and $x - y = x * y$. Conversely let $(X, +)$ be an abelian group with identity 0 and

let $x * y = x - y$. Then X is a p -semisimple *BCI*-algebra and $x + y = x * (0 * y)$ for all $x, y \in X$ (see [6]).

For a *BCI*-algebra X we denote $x \wedge y = y * (y * x)$, in particular $0 * (0 * x) = a_x$, and $L_p(X) := \{a \in X \mid x * a = 0 \Rightarrow x = a, \forall x \in X\}$. We call the elements of $L_p(X)$ the p -atoms of X . For any $a \in X$, let $V(a) := \{x \in X \mid a * x = 0\}$, which is called the *branch* of X with respect to a . It follows that $x * y \in V(a * b)$ whenever $x \in V(a)$ and $y \in V(b)$ for all $x, y \in X$ and all $a, b \in L_p(X)$. Note that $L_p(X) = \{x \in X \mid a_x = x\}$, which is the p -semisimple part of X , and X is a p -semisimple *BCI*-algebra if and only if $L_p(X) = X$ (see [5, Proposition 3.2]). Note also that $a_x \in L_p(X)$, i.e., $0 * (0 * a_x) = a_x$, which implies that $a_x * y \in L_p(X)$ for all $y \in X$. It is clear that $G(X) \subset L_p(X)$, and $x * (x * a) = a$ and $a * x \in L_p(X)$ for all $a \in L_p(X)$ and all $x \in X$. For more details, refer to [1, 3, 5, 6].

3. Regularity of generalized derivations

To develop our main results we recall the following:

Definition 3.1 ([10]). Let θ and ϕ be two endomorphisms of X . A self map $d_{(\theta, \phi)} : X \rightarrow X$ is called

(1) an *inside* (θ, ϕ) -derivation of X if it satisfies:

$$(3.1) \quad (\forall x, y \in X) (d_{(\theta, \phi)}(x * y) = (d_{(\theta, \phi)}(x) * \theta(y)) \wedge (\phi(x) * d_{(\theta, \phi)}(y))),$$

(2) an *outside* (θ, ϕ) -derivation of X if it satisfies:

$$(3.2) \quad (\forall x, y \in X) (d_{(\theta, \phi)}(x * y) = (\theta(x) * d_{(\theta, \phi)}(y)) \wedge (d_{(\theta, \phi)}(x) * \phi(y))),$$

(3) a (θ, ϕ) -derivation of X if it is both an inside (θ, ϕ) -derivation and an outside (θ, ϕ) -derivation.

Example 3.2 ([10]). Consider a *BCI*-algebra $X = \{0, a, b\}$ with the following Cayley table:

$*$	0	a	b
0	0	0	b
a	a	0	b
b	b	b	0

Define a map

$$d_{(\theta, \phi)} : X \rightarrow X, x \mapsto \begin{cases} b & \text{if } x \in \{0, a\}, \\ 0 & \text{if } x = b, \end{cases}$$

and define two endomorphisms

$$\theta : X \rightarrow X, x \mapsto \begin{cases} 0 & \text{if } x \in \{0, a\}, \\ b & \text{if } x = b, \end{cases}$$

and $\phi : X \rightarrow X$ such that $\phi(x) = x$ for all $x \in X$.

It is routine to verify that $d_{(\theta, \phi)}$ is both an inside (θ, ϕ) -derivation and an outside (θ, ϕ) -derivation of X .

Lemma 3.3 ([10]). *For any outside (θ, ϕ) -derivation $d_{(\theta, \phi)}$ of a BCI-algebra X , the following are equivalent:*

- (1) $(\forall x \in X) (d_{(\theta, \phi)}(x) = \theta(x) \wedge d_{(\theta, \phi)}(x))$.
- (2) $d_{(\theta, \phi)}(0) = 0$.

Definition 3.4. Let $d_{(\theta, \phi)} : X \rightarrow X$ be an inside (or outside) (θ, ϕ) -derivation of a BCK/BCI-algebra X . Then $d_{(\theta, \phi)}$ is said to be *regular* if $d_{(\theta, \phi)}(0) = 0$.

Example 3.5. The inside (or outside) (θ, ϕ) -derivation $d_{(\theta, \phi)}$ of X in Example 3.2 is not regular.

Proposition 3.6. *Let $d_{(\theta, \phi)}$ be a regular outside (θ, ϕ) -derivation of a BCI-algebra X . Then*

- (1) *Both $\theta(x)$ and $d_{(\theta, \phi)}(x)$ belong to the same branch for all $x \in X$.*
- (2) $(\forall x \in X) (d_{(\theta, \phi)}(x) \leq \theta(x))$.
- (3) $(\forall x, y \in X) (d_{(\theta, \phi)}(x) * \theta(y) \leq \theta(x) * d_{(\theta, \phi)}(y))$.

Proof. (1) For any $x \in X$, we get

$$\begin{aligned} 0 &= d_{(\theta, \phi)}(0) = d_{(\theta, \phi)}(a_x * x) \\ &= (\theta(a_x) * d_{(\theta, \phi)}(x)) \wedge (d_{(\theta, \phi)}(a_x) * \phi(x)) \\ &= (d_{(\theta, \phi)}(a_x) * \phi(x)) * ((d_{(\theta, \phi)}(a_x) * \phi(x)) * (\theta(a_x) * d_{(\theta, \phi)}(x))) \\ &= \theta(a_x) * d_{(\theta, \phi)}(x) \end{aligned}$$

since $\theta(a_x) * d_{(\theta, \phi)}(x) \in L_p(X)$. Hence $\theta(a_x) \leq d_{(\theta, \phi)}(x)$, and so $d_{(\theta, \phi)}(x) \in V(\theta(a_x))$. Obviously, $\theta(x) \in V(\theta(a_x))$.

(2) Since $d_{(\theta, \phi)}$ is regular, $d_{(\theta, \phi)}(0) = 0$. It follows from Lemma 3.3 that

$$d_{(\theta, \phi)}(x) = \theta(x) \wedge d_{(\theta, \phi)}(x) \leq \theta(x).$$

(3) Since $d_{(\theta, \phi)}(x) \leq \theta(x)$ for all $x \in X$, we have

$$d_{(\theta, \phi)}(x) * \theta(y) \leq \theta(x) * \theta(y) \leq \theta(x) * d_{(\theta, \phi)}(y)$$

by (a3). □

If we take $\theta = \phi = f$ in Proposition 3.6, then we have the following corollary.

Corollary 3.7 ([11]). *If d_f is a regular (r, l) - f -derivation of a BCI-algebra X , then both $f(x)$ and $d_f(x)$ belong to the same branch for all $x \in X$.*

Now we provide conditions for an inside (or outside) (θ, ϕ) -derivation to be regular.

Theorem 3.8. *Let $d_{(\theta, \phi)}$ be an inside (θ, ϕ) -derivation of a BCI-algebra X . If there exists $a \in X$ such that $d_{(\theta, \phi)}(x) * \theta(a) = 0$ for all $x \in X$, then $d_{(\theta, \phi)}$ is regular.*

Proof. Assume that there exists $a \in X$ such that $d_{(\theta,\phi)}(x) * \theta(a) = 0$ for all $x \in X$. Then

$$\begin{aligned} 0 &= d_{(\theta,\phi)}(x * a) * a = ((d_{(\theta,\phi)}(x) * \theta(a)) \wedge (\phi(x) * d_{(\theta,\phi)}(a))) * a \\ &= (0 \wedge (\phi(x) * d_{(\theta,\phi)}(a))) * a = 0 * a, \end{aligned}$$

and so $d_{(\theta,\phi)}(0) = d_{(\theta,\phi)}(0 * a) = (d_{(\theta,\phi)}(0) * \theta(a)) \wedge (\phi(0) * d_{(\theta,\phi)}(a)) = 0$. Hence $d_{(\theta,\phi)}$ is regular. \square

Theorem 3.9. *If X is a BCK-algebra, then every inside (or outside) (θ, ϕ) -derivation of X is regular.*

Proof. Let $d_{(\theta,\phi)}$ be an inside (θ, ϕ) -derivation of a BCK-algebra X . Then

$$\begin{aligned} d_{(\theta,\phi)}(0) &= d_{(\theta,\phi)}(0 * x) \\ &= (d_{(\theta,\phi)}(0) * \theta(x)) \wedge (\phi(0) * d_{(\theta,\phi)}(x)) \\ &= (d_{(\theta,\phi)}(0) * \theta(x)) \wedge 0 = 0. \end{aligned}$$

If $d_{(\theta,\phi)}$ is an outside (θ, ϕ) -derivation of a BCK-algebra X , then

$$\begin{aligned} d_{(\theta,\phi)}(0) &= d_{(\theta,\phi)}(0 * x) \\ &= (\theta(0) * d_{(\theta,\phi)}(x)) \wedge (d_{(\theta,\phi)}(0) * \phi(x)) \\ &= 0 \wedge (d_{(\theta,\phi)}(0) * \phi(x)) = 0. \end{aligned}$$

Hence $d_{(\theta,\phi)}$ is regular. \square

To prove our next results, we define the following notions:

Definition 3.10. For an inside (or outside) (θ, ϕ) -derivation $d_{(\theta,\phi)}$ of a BCK/BCI-algebra X , we say that an ideal A of X is a θ -ideal (resp. ϕ -ideal) if $\theta(A) \subseteq A$ (resp. $\phi(A) \subseteq A$).

Definition 3.11. For an inside (or outside) (θ, ϕ) -derivation $d_{(\theta,\phi)}$ of a BCK/BCI-algebra X , we say that an ideal A of X is $d_{(\theta,\phi)}$ -invariant if $d_{(\theta,\phi)}(A) \subseteq A$.

Example 3.12. Let $d_{(\theta,\phi)}$ be an outside (θ, ϕ) -derivation of X which is described in Example 3.2. We know that $A := \{0, a\}$ is both a θ -ideal and a ϕ -ideal of X . But $A := \{0, a\}$ is an ideal of X which is not $d_{(\theta,\phi)}$ -invariant.

Theorem 3.13. *Let $d_{(\theta,\phi)}$ be a regular outside (θ, ϕ) -derivation of a BCI-algebra X . Then every θ -ideal of X is $d_{(\theta,\phi)}$ -invariant.*

Proof. Let A be a θ -ideal of X . Since $d_{(\theta,\phi)}$ is regular, it follows from Lemma 3.3 that $d_{(\theta,\phi)}(x) = \theta(x) \wedge d_{(\theta,\phi)}(x) \leq \theta(x)$ for all $x \in X$. Let $y \in X$ be such that $y \in d_{(\theta,\phi)}(A)$. Then $y = d_{(\theta,\phi)}(x)$ for some $x \in A$. Thus

$$y * \theta(x) = d_{(\theta,\phi)}(x) * \theta(x) = 0 \in A.$$

Note that $\theta(x) \in \theta(A) \subseteq A$. Since A is an ideal of X , it follows that $y \in A$ so that $d_{(\theta,\phi)}(A) \subseteq A$. Therefore A is $d_{(\theta,\phi)}$ -invariant. \square

If we take $\theta = \phi = 1_X$ in Theorem 3.13 where 1_X is the identity map, then we have the following corollary.

Corollary 3.14 ([4]). *Let d be a regular (r, l) -derivation of a BCI-algebra X . Then every ideal of X is d -invariant.*

If we take $\theta = \phi = f$ in Theorem 3.13, then we have the following corollary.

Corollary 3.15 ([11]). *Let d_f be a regular (r, l) - f -derivation of a BCI-algebra X . Then every f -ideal of X is d_f -invariant.*

Theorem 3.16. *Let $d_{(\theta, \phi)}$ be an outside (θ, ϕ) -derivation of a BCI-algebra X . If every θ -ideal of X is $d_{(\theta, \phi)}$ -invariant, then $d_{(\theta, \phi)}$ is regular.*

Proof. Assume that every θ -ideal of X is $d_{(\theta, \phi)}$ -invariant. Since the zero ideal $\{0\}$ is clearly θ -ideal and $d_{(\theta, \phi)}$ -invariant, we have $d_{(\theta, \phi)}(\{0\}) \subseteq \{0\}$, and so $d_{(\theta, \phi)}(0) = 0$. Hence $d_{(\theta, \phi)}$ is regular. \square

Combining Theorems 3.13 and 3.16, we have a characterization of a regular outside (θ, ϕ) -derivation.

Theorem 3.17. *For an outside (θ, ϕ) -derivation $d_{(\theta, \phi)}$ of a BCI-algebra X , the following are equivalent:*

- (1) $d_{(\theta, \phi)}$ is regular.
- (2) Every θ -ideal of X is $d_{(\theta, \phi)}$ -invariant.

If we take $\theta = \phi = 1_X$ in Theorem 3.17 where 1_X is the identity map, then we have the following corollary.

Corollary 3.18 ([4]). *Let d be an (r, l) -derivation of a BCI-algebra X . Then d is regular if and only if every ideal of X is d -invariant.*

If we take $\theta = \phi = f$ in Theorem 3.17, then we have the following corollary.

Corollary 3.19 ([11]). *For an (r, l) - f -derivation d_f of a BCI-algebra X , the following are equivalent:*

- (1) d_f is regular.
- (2) Every f -ideal of X is d_f -invariant.

Conclusion

In the present paper, we have considered the notions of regular inside (or outside) (θ, ϕ) -derivation, θ -ideal, ϕ -ideal and invariant inside (or outside) (θ, ϕ) -derivation of a BCK/BCI-algebra, and investigated related properties. In our opinion, these definitions and main results can be similarly extended to some other algebraic systems such as subtraction algebras, B-algebras, MV-algebras, d-algebras, Q-algebras etc. In future we can study the notion of regular (θ, ϕ) -derivations on various algebraic structures which may have a lot of applications in different branches of theoretical physics, engineering and computer science.

It is our hope that this work would serve as a foundation for the further study in the theory of derivations of BCK/*BCI*-algebras.

Acknowledgements. The author wishes to thank the anonymous reviewers for their valuable suggestions. Also, the author would like to acknowledge financial support for this work, from the Deanship of Scientific Research (DRS), University of Tabuk, Tabuk, Saudi Arabia, under grant no. S/0123/1436.

References

- [1] S. A. Bhatti, M. A. Chaudhry, and B. Ahmad, *On classification of BCI-algebras*, Math. Japon. **34** (1989), no. 6, 865–876.
- [2] M. A. Javed and M. Aslam, *A note on f -derivations of BCIalgebras*, Commun. Korean Math. Soc. **24** (2009), no. 3, 321–331.
- [3] Y. B. Jun and E. H. Roh, *On the BCI-G part of BCI-algebras*, Math. Japon. **38** (1993), no. 4, 697–702.
- [4] Y. B. Jun and X. L. Xin, *On derivations of BCI-algebras*, Inform. Sci. **159** (2004), no. 3-4, 167–176.
- [5] Y. B. Jun, X. L. Xin, and E. H. Roh, *The role of atoms in BCI-algebras*, Soochow J. Math. **30** (2004), no. 4, 491–506.
- [6] D. J. Meng, *BCI-algebras and abelian groups*, Math. Japon. **32** (1987), no. 5, 693–696.
- [7] G. Muhiuddin and A. M. Al-Roqi, *On t -derivations of BCI-algebras*, Abstr. Appl. Anal. **2012** (2012), Article ID 872784, 12 pages.
- [8] ———, *On (α, β) -derivations in BCI-algebras*, Discrete Dyn. Nat. Soc. **2012** (2012), Article ID 403209, 11 pages.
- [9] ———, *On left (θ, ϕ) -derivations in BCI-algebras*, J. Egyptian Math. Soc. **22** (2014), no. 2, 157–161.
- [10] ———, *Generalizations of derivations in BCI-algebras*, Appl. Math. Inf. Sci. **9** (2015), no. 1, 89–94.
- [11] J. Zhan and Y. L. Liu, *On f -derivations of BCI-algebras*, Int. J. Math. Math. Sci. **2005** (2005), no. 11, 1675–1684.

DEPARTMENT OF MATHEMATICS
 UNIVERSITY OF TABUK
 TABUK-71491, SAUDI ARABIA
E-mail address: chishtygm@gmail.com